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X(n,k)
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s(n)= 1
N

Σ
k

Y(n,k) (−1)
k

Filtre de Lagrange

Filtre de Lagrange

Signal Synthétisé:

βPhase dépliée et multipliée par 1/

Phase dépliée et multipliée par   1/β

���� + L ��� ������	
��� ���
���
���� �� ������� �� 	����� ��� ��	�
����
� ����
��	���
��� �
 ����
� ��� �
����
��
�� � 
�����
������� ��� ��	�
����
� ���	
���
��� �� �
�����
��� �
 �
����
����� � 
�����
����� ��� �� �� ��		��

��� �		�� ��� ��

$��5��62���� �� 1������

���� �� �� 6����4��/�62�� �?�� �2<��� �� 1����� 2� ��6
�$������2�� �?2�6��1���� ��� ���Æ�2��6� �� �� 6����4���
/$�� ��  ���2��� ���� ����0 ���� ����� �16$� 1��� ��
;�6�� �� ��<���<� C�D 1���� >�?2� 1�$������ ��� 1�2�6�
��2<2���* '2��� ��� ���Æ���6� B # ���� 4��/� �� 1��62�
�$����� �6 2/�<2��2��( �6 �?2�6����26 ������ �2�6���2��
�� 15����

�� �����
������ �� �
������

 ���

������
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���� ����� �$��2;$� �*1$��2/��6���/��6 >�� �?��<��265/�
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��62��� �;� �?$��2/2��� ��6 ��6�4��60 ���� ����� �$��2�$�
�?2/1�$�/��6�� �� ��<��265/� �� ������62�� ��� 15����
>�2 /�2�62��6 �� 4��/� �� �2<��� �2��6$� 1�� ��11��6 ��
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�5���2��62�� ��� 15���� 6��6�� ��� 1$��2���� �� 126�5
�$�����26���26 ��� 6��1 <����� 1�2������ �� �������  �2��
��� ����5���2��62�� �� �$�=�6 �� �5�>�� �$�<2�� �� ��2�
��/��60 ��//� ���� �?����� 1��1��$� �� C,D0 1��6 �$��
����26�� =������1 �� 1���� /$�/�2�� �6 �� 1���0 �� >���
�26$� �� �2<��� �=6��� ���2� �� 4���62�� �� �� ���<����
��� ��</��6� �� 1����� ��*>���� ��6�� 6��5�2>�� ��
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�$��� :�2��6 ��� ��� 2��6��6� ����$�� 1�� �?�B- �11�2>�$�
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( �?��6
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(
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�����2�$��2��0 ��� 2�� ���6 <$��$�����/��6 ��G�6��* �� 6�/1�
�� ������ �6 ����2 1���� >�?2�� �?�������6 1�� �� 6����
��� ��� ����62�� �162/���� !?��6 �� ��2��� 1��� ��>�����
���� ���� ����� �62�2�$� �� ��<��265/� �?�162/2��62��
26$���624� !�6 ��<��265/� 1��6 G�6�� �$���/$� �2��2%
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�?$����<2� ��� �2<���* �� 1������ ���� ����� 1�2� ��
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62�� ��� 15���� ��*�� 1��/2����� �������� !��� 1��/�6
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